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Name: ______________________________  Class: ________________________ 
 
M8-U4 - HW #5 – Graphing Linear Relationships Date: ________________________ 
 
 
 
1. Graph a line that goes through the following 2 points: (0, 0) and (4, 4) 

 

 

 

 

 

 

 

 

2. Graph a line that goes through the following 2 points: ( ) ( )0,4,2,3 −−  
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Graph a linear relationship based  on information provided: 

3. Given 3−=m and the y-intercept is (0, -1). 4. Given slope of 
3
4 and 0=b  

 

 

 

 

 

 

 

 

5.  Using the equation: 12 −= xy , complete the table below and then graph the equation. 
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Graph the linear equations: (Hint: identify the slope and y-intercept) 

6. Graph: 43 −= xy .   7. Graph: 1
3
2

−= xy  

 

 

 

 

 

 

 

 

 

 

 

8. Graph: 42 +−= xy    9. Graph: xy
2
1

−=  
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Spiral: 

10. Solve the following equation 5
2
3

−= xy  when y = 7. 

 

 

 

11. Solve for x: 
2
12

4
3 −
=

+ xx
 

 

 

 

 

 

12.  


